
Mathe Ü1 
 
1. 

𝑥𝑥1 + 𝑥𝑥2 + 𝑥𝑥3 = 1
𝑥𝑥1(2a − 3)𝑥𝑥2 = 𝑎𝑎

𝑥𝑥1 + (2a − 3)𝑥𝑥2 + (𝑎𝑎2 − 9)𝑥𝑥3 = 𝑎𝑎2 − 6

𝑥𝑥1 + 𝑥𝑥2 + 𝑥𝑥3 = 1
−(2a − 4)𝑥𝑥2 + 𝑥𝑥3 = 1 − 𝑎𝑎

−(2a − 4)𝑥𝑥2 + −(𝑎𝑎2 − 10)𝑥𝑥3 = −(𝑎𝑎2 − 7)

𝑥𝑥1 + 𝑥𝑥2 + 𝑥𝑥3 = 1
−(2a − 4)𝑥𝑥2 + 𝑥𝑥3 = 1 − 𝑎𝑎
(𝑎𝑎2 − 9)𝑥𝑥3 = 𝑎𝑎2 − 𝑎𝑎 − 6

𝑒𝑒𝑒𝑒𝑒𝑒𝑒𝑒𝑒𝑒𝑒𝑒𝑒𝑒𝑒𝑒𝑒𝑒:𝑎𝑎 ∈ ℝ ∖ {3,−3,2}
𝑚𝑚𝑚𝑚ℎ𝑟𝑟𝑟𝑟𝑟𝑟𝑟𝑟𝑟𝑟𝑟𝑟𝑟𝑟:𝑎𝑎 = 3

𝑛𝑛𝑛𝑛𝑛𝑛ℎ𝑡𝑡𝑡𝑡ö𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠ü𝑟𝑟:𝑎𝑎 = −3,𝑎𝑎 = 2

 

 
2. 

𝑎𝑎𝑥𝑥1 + 4𝑥𝑥2 + 𝑎𝑎𝑥𝑥3 = 1
𝑥𝑥1 − 2x2 + 4𝑥𝑥3 = −2
2𝑥𝑥1 + 𝑎𝑎𝑥𝑥2 + 6𝑥𝑥3 = 4

𝑎𝑎𝑥𝑥1 + 4𝑥𝑥2 + 𝑎𝑎𝑥𝑥3 = 1
(2a + 4)𝑥𝑥2 − 3a𝑥𝑥3 = −2a + 1

(−𝑎𝑎2 + 8)𝑥𝑥2 − 4a𝑥𝑥3 = −4a + 2

𝑎𝑎𝑥𝑥1 + 4𝑥𝑥2 + 𝑎𝑎𝑥𝑥3 = 1
(2a + 4)𝑥𝑥2 − 3a𝑥𝑥3 = −2a + 1

(3a3 + 8a2 − 8a)𝑥𝑥3 = −2a3 + 7a2 + 28a

𝑥𝑥1 =
(−2a2 + 7a + 28)

(3a2 + 8a − 8)

𝑥𝑥2 =
(20𝑎𝑎2 − 38𝑎𝑎 − 4)

(3a3 + 14𝑎𝑎2 + 8a − 16)

𝑥𝑥3 =
1
𝑎𝑎
−

(−2a3 + 7a2 + 28a)
(3a3 + 8a2 − 8a)

−
(80a2 − 152a − 16)

(3a4 + 14a3 + 8a2 − 16a)
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(−2a2 + 7a + 28)
(3a2 + 8a − 8)

(20𝑎𝑎2 − 38𝑎𝑎 − 4)
(3a3 + 14𝑎𝑎2 + 8a − 16)

1
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(3a3 + 8a2 − 8a)

−
(80a2 − 152a − 16)

(3a4 + 14a3 + 8a2 − 16a)
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3. 



𝐿𝐿 = 〈�
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112
31 − 2

𝑥𝑥 + 𝑦𝑦 + 2z
3x + 𝑦𝑦 − 2z

𝑥𝑥 + 𝑦𝑦 + 2z
−2y − 8z

𝑥𝑥 − 2z
+𝑦𝑦 + 4z

−2x1 + 4x2 − 𝑥𝑥3 = 0

 

 
 
4. 
Ü𝑏𝑏𝑏𝑏𝑏𝑏𝑏𝑏𝑏𝑏ü𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓ℝ3𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎ℎä𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛:
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2𝑥𝑥1 + 𝑥𝑥2 + 𝑥𝑥3 = 0
𝑥𝑥1 = 0

2x2 = 0
𝐺𝐺𝐺𝐺𝐺𝐺𝐺𝐺𝐺𝐺ℎ𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢ö𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠 ⇒ 𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉ℎä𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛:

𝑥𝑥2 = 0, 𝑥𝑥1 = 0, 𝑥𝑥3 = 0

 

 


